. Radius of the circle at identified area: 4=mr* = Y%km’> =nr’ = r= 3k”%

T
Givens: = 6fm*nr, 9,1 = > iom
dt dt Jn
A 1
Aznrz:>d—:2nr£:>6km2hr=2n-%—mﬂzﬁz—km/hr
dt dt Jnodt T dr n
. Givens: d—V:?,r:9cm,£:150m/min
dt dt
Vzinr3 :d—Vzin -3r2£:> av =41 (9cm)* (15¢m / min) = 4860r cm’ / min
3 dt 3 dt dt
C=a’+b =13 =5+ =b=12
13 feet
> feet Givens: ¢ =13 fi,a=5fi,b=12fi, c—o %:—Zﬁ/sec,%z?
2 ft/sec
dc da db db 5
=a’+b° =2 Ly Pt +2b— =13 /1(0) =5 ft(-2 ft/ sec +12t — == ft/sec
'=a c— =2a— +2b— J1(0)=57t(=2 ft / sec) f == f
] Determine rate at which side is increasing:
. . dv L3, . dr
Givens: X = 5in,— = 2in” /min,— =?
5in dt dt

V=x :>d—V—3 2dx:2m3/mln 3(51n) ﬂ:@:% in/ min
dt dt dt dt /75
Determine the rate of increase in surface area

S4=6x" = a4 _ =12x ﬂ as4 =12(5in) -iin/min = §z'n2 / min
dt dt dt 75 5
tanx=%:> tanx=£= zy‘1
adj y
‘ . . 3000 )
X To determine the size of the angle:tan x = —— = x =6.48
26400
y
Givens: y = 26,400 ft, z = 3000 ft, x = 6.48", ZZ =500 ft/sec, ‘Z 0, ‘;’t‘



tanx=zy ' = seczxﬂzﬁ- Ay Y

ar @
0 2 dx -1 -2
(sec6.48°) = (500 ft / sec) - (26,400 ft) " — (26,400 1)~ (0)-(3000 1)

1.013ﬂ_ 500 f#/sec

= = 0.187rad /sec =1.04° / sec
dt 26,400 ft

10 ft

r 5
—=r=—"
24 h 12

Ratio of radius to height 10_

Volume of a Cone:

2
V:lnrzh:V:ln(ihj =y =28
3 3 432

Givens: h = 16feet,d—V =2011 /min,ﬁ =9
dt dt

9
=20/ min=—"---3(16 1% —=——ft/sec
432 dt 432 dt f 432 {6 sy 2 dt dt 20m f

_ 25m JEEN av _ 25t a2 9 dh 25m ) a’h dh

Ratio of radius to height % =Ly = g
Volume of a Cone:
2
V:lnrzh:Vzln ﬁ h:V:in}ﬁ
3 3 (2 12
dv dh
Givens: h =10 feet,— =?,— =5 ft/ min
Je dt T dt %
y=Lop :d—Vzin .3h2@:d—V:Ln ~3~(10ft)2(5ft/sec):>d—V:l25nft/min
12 dt 12 dt dt 12 dt
Altitude of plane after 1 hour: sin x = PP . in30° =2 = y=250
z hyp 500
X Y dz dx dy
Givens: x =30°,y =250mi, z = 500mi,— = 500mi / hr,— = 0,—— = ?
dt " dt dt

sinx:Z:>sinx=yz*1 = COS)C@:QZ*1 +—lz’2%-y
z dt dt dt

cos45°(0) = % (500mi)™" = (500mi) > (500mi / hr)(250mi)

_dy 1 (500mi/hr)(250mi)
dt 500mi (500mi)>

= Q =250mi/ hr
dt



9. L—125f Distance the boat is from the dock:

y=10ft 224 02 51952 =32 1 10% = x = 124.6 or 1569

X Givens: x=15x/@ft,y=10ﬁ,z:125ﬁ,%=12ﬁ/m1 @

dx

=0,—

Z=x"+y :22%_2 —+2y (125ﬁ)—_15J_ﬁ (12.f¢/ min) +10 f¢ - (0)

dt
dz _15\69 fi-(12ft/min) _ 36J_
dt 125 fi

ft/min or 11.96 f / min

10. Givens: x=1,y = 2,% = 6units/sec,d—y =7?

3
Xy 8 3 2 3 2
=—=5(xy" ) =81+ = 5xy" =8+8

7" (07)=8(1+)%)= 5xy v
dx 2dy dy . 3 2 dy dy
a) 5—-y°+3y"—=—.-5x=16y—— = 5(6units/sec)(2)” +3(2) - —=-5(1)=16(2) - —
) PRt Y ( )(2) ()dt @ ()dt
240units 'sect 602 =32 % = 240units Isec = 28 Y — @ =0 s Isec

dt dt dt dt

b) falling because of the negative value.

dz
dr



